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Multiplication (Vertical) Name:
Solve each problem. Answers
) 7,158 2 6,857 3 1,652 49 3721 X
X 6 X 7 X 3 X 3 '
2.
3.
4.
5 4,611 6) 3,563 9,177 8 2,785 i
X 6 X 3 X 7 X 2 '
6.
7.
8.
9  2.497 100 1,147 1) 2,918 12) 4,904 .
X 8 X 8 X 9 X 5 '
10.
11.
12.
13) 9,743 14) 1,841 15 5761 16) 5345 .
X 5 X 9 X 8 X 6 '
14,
15.
16.
17) 5,285 18) 2665 19 5,928 20 7512 .
X 2 X 7 X 4 X 9 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 7,158 ) 6,857 ) 1,652 ) 3,721 . 42948
X 6 X 7 X 3 X 3
42,948 47,999 4,956 11,163 , 47,999
3 4,956
. 11,163
5 6 7 8
) 4,611 ) 3,563 ) 9,177 ) 2,785 . 27.666
X 6 X 3 X 7 X 2
27,666 10,689 64,239 5,570 s 10,689
. 64,239
8 5,570
9 10 11 12
) 2,497 ) 1,147 ) 2,918 ) 4,904 . 19976
X 8 X 8 X 9 X 5
19,976 9,176 26,262 24,520 0 9176
1 26,262
12 24,520
13 14 15 16
) 9,743 ) 1,841 ) 5,761 ) 5,345 s 48715
X 5 X 9 X 8 X 6
48,715 16,569 46,088 32,070 s 16,569
15. 46,088
6. 32,070
17 18 19 20
) 5,285 ) 2,665 ) 5,928 ) 7,512 - 10570
X 2 X 7 X 4 X ®]
10,570 18,655 23,712 67,608 1. 18,655
0. 23,712
o0 67,608
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